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So, the factors of are and - and the factors of are and .

The binomial factors are:
S0, 3% —5x— 2=

b) 2x° — 13x + 15

/’2x2 — 13x + ‘15\
The 1st term is . The 3rd term is .
The factors of are: The factors of are:
and and ; and
Write each pair of factors of next to the pair of
factors of The 2nd term of the trinomial is
Find the products. , and the 3rd term is
, so write only the
factors of
Stop when you get
___ asthesum of
the products.
So, the factors of are and :
and the factors of are and

—_— —

The binomial factors are:
So, 2 — 13x + 15 =
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